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POLITICAL SCIENCE — GENERAL
Paper : DSE-A-1 and DSE-A-2
Candidates are required to give their answers in their own words
as far as practicable.
Paper : DSE-A-1
(Public Administration)

Full Marks : 65
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ary of Public Administration’?

Mention one disadvantage of hierarchy.

d) Mention two Pre-conditions of coordination in administration_
(e) Write any two advantages of decentralisation In administration.
() What do you mean by delegation?

(&) What is meant by charismatic leadership?
(h) Who is the author of ‘Administrative Behaviour’?

(1) Mention one feature of Development Administration.

(G) Who proposed the SALA mode]?
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(k) Write one characteristic of Prismatic Society.

() In which year the first Minnowbrook conference ook place?
(m) What is public policy?

(n) What are the two major obstacles in policy implementation?

(o) What is the full form of ‘MGNREGA™?
Module - 1

- Answer any one question (within 100 words) : 10=1
(a) Point out the differences between decentralisation and delegation.

(b) Describe the role of communication in Public Administration.

- Answer any one question (within 500 words) :

(a) Discuss briefly the nature and scope of Public Administration. Explain the importance of ‘public’ of

Public Administration. 10+5
(b) Explain the reasons of emergence of New Public Administration. Discuss its main features.
5+10
Module - 2
- Answer any one question (within 100 words) : 101

(a) Write a short note on the Marxian concept of bureaucracy.
(b) What are the main objectives of MGNREGA?

- Answer any one question (within 500 words) :

(a) What do you mean by public policy implementation? What are the major obstacles to the
implementation of public policy? 10+5

(b) Discuss the major features and objectives of Sarva Shiksha Abhiyan. 10+5
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